

House of Character in Zurrieq



Zurrieq, South



€799,000

Reference No: 240251096-332

 Total Rooms: **8**

 Floor Area (m²) : **360**

 Bathrooms: **2**

 Bedrooms: **4**

House of Character - For Sale - Zurrieq

Large House Of Character (Unconverted) with loads of characteristics spread over 360sqm of land located almost in the center(Uca area) of the village . Property comprises of 11 rooms in total ,6 of which can be converted into bedrooms and has also potential to build further. Very spacious central courtyard with a private well , seperate kitchen , 2 bathrooms, amazing 50 sqm living/ dining with slabs and arches connecting to the back garden which is very ideal for entertaining purposes. This amazing house is very ideal for an investment like a boutique hotel or for a large growing family. Freehold call your preferred RE\MAX agent for viewings or more information.

Features

- ✓ Ceramic Floor
- ✓ Electricity Utility
- ✓ Air Space
- ✓ Well
- ✓ Roof Terrace
- ✓ Water Utility
- ✓ Central Courtyard
- ✓ Space For Pool
- ✓ Balcony
- ✓ Garden

Rooms

- ✓ Kitchen : 5 x 5 m (25 m2)
- ✓ Living/Dining : 7.2 x 6.4 m (46.08 m2)
- ✓ Double Bedroom : 3 x 3 m (9 m2)
- ✓ Double Bedroom : 6 x 3 m (18 m2)
- ✓ Double Bedroom : 6.4 x 3 m (19.2 m2)
- ✓ Double Bedroom : 3.3 x 4.7 m (15.51 m2)
- ✓ Hallway : 5.5 x 5.4 m (29.7 m2)
- ✓ Bathroom : 3 x 2 m (6 m2)
- ✓ Bathroom : 3 x 2 m (6 m2)
- ✓ Open Space : 5 x 10 m (50 m2)

- ✓ Open Space : 12 x 4 m (48 m²)
- ✓ Open Space : 6.5 x 5 m (32.5 m²)

Gallery





Clive Pollacco

RE/MAX Advantage

M: 79486346

E: clivep@remax.com.mt

T: 21222123

RE/MAX Advantage

Advantage Residential Ltd, Triq Dun Karm, Birkirkara, Malta